

NIWUNU OOTENEMAR₃

18/EN906/015

Mechanical Engineering

ENG 281

D Solita,

a) $dy/dx + y \tanh x = 2 \sinh x$

$P = \tanh x$

$Q = 2 \sinh x$

$\int P dx = \int \tanh x dx = \int \frac{\sinh x}{\cosh x} dx$

$\cosh x = u$

$\int \frac{\sinh x}{2} dx$

$1 = \cosh x$

$du/dx = \sinh x$

$dx = du / \sinh x$

$\int \frac{\sinh x \cdot du / \sinh x}{u}$

$\int 1/u du = \ln |u|$

$= \ln \cosh x$

$IF = e^{\int \tanh x dx}$

$IF = \cosh x$

Then $y \cdot IF = \int Q \cdot IF dx$

$y \cdot \cosh x = \int 2 \sinh x \cdot \cosh x dx$

$2 \sinh x \cosh x = \sin(2x)$

$2 \sinh x \cosh x = \sinh(2x)$

$y \cdot \cosh x = \int \sinh x dx$

$y \cdot \cosh x = 1/2 \cosh 2x + C$

$\cosh x y = \frac{\cosh 2x}{2} + C$

$y = \frac{\cosh 2x + C}{2 \cosh x}$

$y = \frac{\cosh 2x + C}{2 \cosh x}$

$y = \frac{\cosh 2x + 2C}{2 \cosh x}$

Let $x = 0$

$y = \frac{\cosh 2x + C}{\cosh x}$

b) $dy/dx + 2y = 2e^{3x}$

$P = 2$

$Q = 2e^{3x}$

$IF = e^{\int 2 dx} = e^{2x}$

$y \cdot IF = \int Q \cdot IF dx$

$y \cdot e^{2x} = \int 2e^{3x} \cdot e^{2x} dx$

$y \cdot e^{2x} = \int 2e^{5x} dx$

$y \cdot e^{2x} = 1/5 e^{5x} + C$

$y = \frac{1/5 e^{5x} + C}{e^{2x}}$

e^{2x}

$y = 1/5 e^{3x} + C e^{-2x}$

$$1) \frac{dy}{dx} = x^2 + 2x - 3$$

$$\frac{dy}{dx} = x^2 + 2x - 3$$

$$\int \frac{dy}{dx} = \int x^2 + 2x - 3 dx$$

$$y = \frac{x^3}{3} + 2x^2 - 3x + c$$

$$IF = e^{\int p dx} = e^{\int 2x dx} = e^{x^2}$$

$$IF = e^{x^2}$$

$$2 \cdot IF = \int q \cdot IF dx$$

$$2 \cdot e^{x^2} = \int (x^2 + 2x - 3) \cdot e^{x^2} dx$$

$$2 \cdot x = \int -2x e^{-2x} dx$$

$$= -2 \int x e^{-2x} dx$$

$$= -2 \left[\frac{x e^{-2x}}{-2} + \frac{e^{-2x}}{-2} \right] + c$$

$$+ 1$$

$$= 2 \cdot x e^{-2x} = 2x e^{-1} + c$$

$$2 = 2x e^{-1} + c$$

$$2 = 2x + c$$

$$2 = 2x + c$$

$$2 = x(2 + c)$$

$$2 = 4^{-2}$$

$$4^2 = x(2 + c)$$

$$\frac{1}{4^2} = x(2 + c)$$

$$4^2 = 4$$

$$x(2 + c)$$

$$y = \sqrt{\frac{1}{x}}$$

$$x(2 + c)$$

$$2) \frac{dy}{dx} + \frac{y}{x} = y^3$$

$$\frac{dy}{dx} + \frac{y}{x} = y^3 \quad \text{--- (1)}$$

$$= y^{3-n}$$

$$n = 3$$

$$= y^{3-3} \quad \text{--- (2)}$$

$$= y^0$$

$$\frac{dz}{dy} = -2y \frac{dy}{dx} \quad \text{--- (3)}$$

Then multiply eqn (1) by (1-n)

$$-2y^{-3} \frac{dy}{dx} - \frac{2y^{-2}}{x} = -2 \quad \text{--- (4)}$$

$$\frac{dz}{dy} = 2y^{-3} \frac{dy}{dx}$$

Sub eqn 2 and 3 into (4)

$$\frac{dz}{dy} - \frac{2z}{x} = -2$$

$$p = -2/x$$

$$Q = -2$$

$$3) x^2 \frac{dy}{dx} = x^3 \sin^3 2x + 4$$

$$\frac{dy}{dx} = x \sin^3 2x + \frac{4}{x}$$

$$\int \frac{dy}{dx} = \int x \sin^3 2x + \int \frac{4}{x}$$

$$= \frac{100 \sin^3 2x}{3} + \int \frac{1}{2} \cos 2x + 4x^{-1}$$

$$2 \cos 2x + \frac{\sin 2x}{2} + \frac{1}{4} x^{-1}$$

$$= -\frac{2 \cos 2x}{3} + \frac{\sin 2x}{3} - \frac{1}{4} x^{-2}$$

$$y = \frac{\sin 2x}{3} - \frac{2 \cos 2x}{3} - \frac{1}{4} x^{-2}$$

$$\textcircled{B} (2x^3 + 2x^2) \frac{dy}{dx} = 2x^3$$

$$y = Vx$$

$$\frac{dy}{dx} = V + x \frac{dy}{dx}$$

$$V + x \frac{dy}{dx} = \frac{2(2x^3)}{2x^2 + V^2 - x^2}$$

$$V + x \frac{dy}{dx} = \frac{2x^3(2x^3)}{2x^3(1+V^2)}$$

$$x \frac{dy}{dx} = \frac{2x^3}{1+V^2} - V$$

$$\frac{dy}{dx} = \frac{2V^2}{1+V^2} - V$$

$$= \frac{2V^2 - V - V^2}{1+V^2}$$

$$x \frac{dy}{dx} = \frac{V^2 - V}{1+V^2}$$

$$\textcircled{C} (2x^3 + 2x^2) \frac{dy}{dx} = 2x^3$$

$$y = Vx$$

$$\frac{dy}{dx} = V + x \frac{dy}{dx}$$

$$V + x \frac{dy}{dx} = \frac{2(2x^3)}{2x^2 + V^2 - x^2}$$

$$\sigma = nq\mu$$

$$\sigma = nq(n_0 + n_p)$$

$$\sigma = 2.5 \text{ km}^3 \times 1.6 \times 10^{19} (\text{Si} + \text{In})$$

$$\sigma = 2.5 \times 10^{22}$$

$$\text{Resistivity} = \frac{1}{\sigma}$$

$$= 4.2 \times 10^{-22}$$

$$V \frac{dy}{dx} = \frac{2x^3(2x^3)}{2x^3(1+V^2)}$$

$$\frac{dy}{dx} = \frac{2x^3}{1+V^2} - V$$

$$= \frac{2V^2 - V - V^2}{1+V^2}$$

$$= \frac{2V^2 - V - V^2}{1+V^2}$$

$$\frac{dy}{dx} = \frac{2V^2 - V - V^2}{1+V^2}$$

$$x \cdot dx = V^3$$

$$\frac{1+V^2}{V^2} \cdot dx = \frac{1}{x} \cdot dx$$

$$V(V-1) \ln V = V^3 - V$$

$$\frac{1+V^2}{V^3 - V} = \frac{1}{V} + \frac{2}{V-1} + \frac{1}{V+1}$$

$$1+V^2 = 0(V-1) \ln V + 5(V) \ln V + 100$$

$$1+V^2 = 5 \ln V + 100$$

$$2 = 2R$$

$$R = 1, V = -1$$

$$1 + (-1)^2 = 1 + (-1) \ln(-1) + 5(-1) \ln(-1) + 100$$

$$e = 1, \quad v = 6$$

$$1 + \cos \theta^2 = A(\cos \theta - 1) + B(\cos \theta + 1)$$

$$1 = A(\cos \theta - 1) + B(\cos \theta + 1)$$

$$1 = -A + B$$

$$\int \cdot \left(\frac{-1}{u} + \frac{1}{u-1} + \frac{1}{u+1} \right) du = \int \frac{1}{x} dx$$

$$- \ln |u| + \ln |u-1| + \ln |u+1| = \ln |x| + \ln |a|$$

$$\frac{u^2 - 1}{u} = Ax$$

u

$$\frac{u^2}{x^2} = 1 = Ax - \frac{u}{x}$$

$$\frac{u^2}{x^2} = 1 = Ax$$

$$\frac{u^2 - x^2}{x^2} = Ax$$

x

$$u^2 - x^2 = Ax^2$$

$$u^2 = Ax^2 + x^2$$

$$u^2 = x^2(A+1)$$